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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2012 

ELECTIVE COURSE : COMMERCE 

ECO-7 : ELEMENTS OF STATISTICS 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any four questions. All questions carry equal 
marks. 

1. 	(a) Fill in the blanks with the appropriate word 	5 
chosen from those given in the brackets. 
(i) 	Ogive helps in locating the value of 

(median/ mode) 
(ii) The units of each class should 

normally be 	 

(heterogeneous/homogeneous) 
(iii) A time series is an arrangement of 

statistical data in  	order. 
(chronological/Random) 

(iv) Harmonic mean is the reciprocal of the 
of reciprocals. 

(mean/median) 
(v) Range is easy to compute and 

in nature. 

(short/comprehensive) 
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(b) State whether the statements given below 	5 

are True or False. 

(i) Statistics is the science of estimates and 

probabilities. 

(ii) Hybrid ratios are usually stated in 

percentage form. 

(iii) Secondary data should never be 

accepted without careful enquiry. 

(iv) "Random sampling" is a synonym of 

a representative sample. 

(v) In any sample survey, there are less 

chances of errors. 

(c) Distinguish between biased and unbiased 21/2 

error. 

2. (a) What is sampling ? What are the essentials 61/2  

of a good sample ? 
(b) Eleven students of a class obtained the 	6 

following marks in Accountancy. Calculate 
the Quartile deviation and its coefficient. 
5, 8, 10, 15, 22, 25, 26, 29, 30, 31 and 35. 

3. (e) A car owner purchases petrol for his car at 	6 

Rs. 2.40, Rs. 2.80 and Rs. 3.00 per litre 
respectively for three months. If his 
expenditure for three months is Rs. 480, Rs. 
518 and Rs. 540 respectively, find the 
average price of petrol purchased during 

three months. 
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(b) Find the coefficient of skewness if difference 61/2 
of two Quartiles is 8, sum of two quartiles is 
22 and median is 10.5. 

4. 	
The mean and standard deviation of 20 items is 

found to be 10 and 2 respectively. At the time of 
checking, it was found that one item with a value 
of 8 was incorrect. Calculate the correct mean 
and standard deviation if 

(a) the wrong item is omitted, and 	 61/2 

(b) it is replaced by 12. 
6 

5. 	
(a) What is meant by dispersion ? What are 

the methods of computing measures of 

dispersion. Illustrate the practical utility of 
these methods. 

(b) Below are given the net profits (in thousand 

rupees) of a business for 5 years. 

2006 2007 2008 2009 2010 

10 	15 	17 	20 	28 

Draw a Loran Curve 
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6. (a) Calculate median and mode of the following 5+5 

series. 

No. of days 

Absent 

(Below) 

5 10 15 20 25 30 35 40 45 

No. of 

Students : 
29 224 465 582 634 644 650 653 655 

(b) Discuss the general rules for tabulation 	21/2 

7. Distinguish between the following : 

(a) Simple Table and Complex table. 	 4 

(b) Discrete series and continuous series. 	41/2 

(c) Simple Arithmetic Mean and Weighted 	4 

Arithmetic Mean 
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:2 EIT4 	 37ji/chcfq 	: 50 

: 	r4H TiYq 	Ti 	 3 14q 	11 t I 

- 

1. 	(a) 	cc 	fq74 	A ---crzichi 	gRi -ft---qa 	5 

-T-24-F9t 4 14 --1-r--A7 

(i) Thi 	 r 	 711d 1-,k-4 

Wit 	I 	(14t7TWIOPErfl 

(ii) 1;-c=tT 

	

	 TTE1T TIT1417-TM74T 

..qTrER I 

( 	14) qfq-ATcli 

(iii) 'ITT (time series) .-11 	ch 

TIltV   &I—dT-41 t I 

(11[2T 31-1147/kt14 (Random) 

(iv) ic-I-Ict) 9r 2l 

ov9h 41 taT ti 	(1IT4iT{ 1:TRZ1/1:11) 
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(v) 	fqTaTT ch 41uI-11 

	 -51-f fff 	(wvfqR1-1-0) 

(b) 	F-14-11rin5cf 	F/R71 7IT 3: 	5 

(i) 	11TQ 	fq7iff t I 

(ii) TrWT 3-1-11TEdi 	Yrzr: MICVIcid •&c4 	fr 

-51-Wa 	\slid! t I 

(iii) TritA cn`l 

fir .-.11,4,1k -16 -wT9-r -cur 

(iv) ,i15 	1-c41-1 	 -wr 

44liqat11 	t I 

(v) f-*7:ft f 	cr fa 3-14 cbli 3T-4M' 

(c) 3i149-ff 	favi4 4 4q 	I 	21/2 

2. 	(a) 	11-cl -c11-1 	TN-4 t? 	-) 3 	Tifff-0 41 61/2 

31-r-d1 FoR)ticii4 	 t? 

(b) 	.> 	P-TT 	fq-alf2it ch c;tAIFIRT 	F-14-1 	6 

3-f- 	-uq21-- 	izu-klatd--  4;1 

wIr--A7 I 

5, 8, 10, 15, 22, 25, 26, 29, 30, 31 '2.11 35. 
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3. 	(a) 	 chit 1TF-1 3T1:1* cnik 	 cik X11 	6 

2.40 T., 2.80 T. CWT 3.00 T. 9k r 

tA-r-4 	*i 	t l ci1-11.  Attf 	cwi 

9114-Ri: 480 T., 518 T. -a24-r 540 T. t, 	H1 

t1-1 sbq f T 414 "k1 	311-:ta I 	4cf 

rf-t-4 I 

(b) 	fa 	a 4-1c11 Trilt 	—A 	 31*--d-T 61/2 

8t 	.TT 4)4122 t . 2T lqfW-*"1.  10.5 t I 

	

4. 	201=f1 t 	1:11U-1 T211 TR-171. 	 10 MIT 

23-1TWF—Kff V I *T" 14 ,s11-1 	TM-4 zap Licit -clot fm 

4-tq 8 oh Ifc 	rid f- Ecr 2Ti.  I At AR 21 -u241 e yArcr 

Forciori iii i 	rF 	: 

(a) 'rid Hq ail 	f 1i71-4, -ff2TT 	 61/2 

(b) 314 12 'g.RT 	fi 717 I 
	 6 

5. 	(a) 3Tc1f*T9 cri w 310 t? 	*1 Art * 	7 

T1 ir9-r*4. 	 FIRPirt? 

ail a1-qtrft-T 	 "1-r-4R 

(b)   	t 5' 	f9-4-@ c9PI (---47 51/2 

T1̀7:414)'k4  

70 2006 2007 2008 2009 2010 

f9"q7 7r4i 10 15 17 20 28 
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6. 	(a) F-14-11R1 	T11713ft 	*1:1fW*1 71179T 5+5  

: 

15 5 10 20 25 30 

465 644 6501653 

I 	I 	I 

(b) 	 (114-11-L1 f9-zrn) cni --1-f—A7I 	21/2 

7. 	ok5ci if afffT 	: 

(a) 2-TT zird.c1 74171:t 	 4 

(b) TEdff 	 41/2 

(c) T-fro4 - E2 -Tiftff fl 4-1IcR 7wr 	4 

29 224 582 634 655 
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